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A buddy of yours wants to open up a canoe shop.  She plans on making the canoes herself.  
The building rental costs her $3000.  Her electric bill is $1200.  The wood and metal-working equipment costs her $4800.  The wood for each canoe costs $120.  The wood for each set of paddles costs $15.  The lacquer for each canoe and paddle set costs $45.  The metal that she uses for all of the fasteners/joints cost $10 per canoe.
1.  List the type and cost for each of the fixed costs to produce the canoes.

2.  List the type and cost for the rate per canoe.

3.  If x = the number of canoes she makes, and C(x) = the cost to make x canoes, write a 

     function for C(x).
Your friend plans on charging $500 per canoe.

4.  If R(x) = the revenue from selling x canoes, write a function for R(x).

5.  What does the break-even point of this system of equations represent?

6.  Give the coordinates for cost and revenue for 15 canoes.

7.  Using that information, create a window to view C(x) and R(x) on your calculator.  What is 
     your window?
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8.  Graph C(x) and R(x) below.  Be sure to include all the important labels on your graph.

9.  Using the INTERSECTION function on your calculator, determine the break-even point.

Now, let’s say that she wants to make more money.  She does two things: she raises 
the price of each canoe by $50, and she rents out half of her building to another small business.  She charges them $1600.  
10.  List the type and cost for each of the fixed revenues to produce the canoes.

11.  List the type and cost for the rate of revenue per canoe.

12.  What is the new revenue function for R(x)?

13.  What is the new break-even point for her canoe business?

14.  Since Profit = Revenue – Cost, write the equation for P(x).

15.  What is C(50)?

16.  What is R(50)?

17.  Find R(50) – C(50).

18.  Find P(50)?

19.  Does R(50) – C(50) equal P(50)? Should they match? Why or why not?


